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10.

ch& 187} Zo] AD//BC <l AttelE ABCD ©]4 aDCO < o]
7F40 & o, AABC ©] WolE oteizt.
(%, 240 = 00 )

iy

\VARR 4
0x
L

120

S5 ~
AABO = ADCO = 40
F,2A0=CO o|E=2
.. ABOC = 80
a2kA AABC = AABO + ABOC = 40 + 80 = 120




11. oF& SHAche]EoA AOAD = 8cm?, OD: OB =2:3¥ ¢, t}&

=49] go|g Fatelet.

A D
(3)

(1) AOAB 9] G 0]
(2) AOCD 2] Ho]
(3) AOBC 9] B o]

i

i

v VvV vV v v Vv
X
it

(1) 12 cm?
HEFD (2) 12cm?
HED (3) 18cm?

()OD: 0B =2:3°]2%&
AOAD : AOAB=2:3
. AOAB = gAOAD = ; x 8 = 12(cm?)

(2) AOCD = AACD - AOAD
= AABD - AOAD = 12(cm?)
(3)OD:0B=2:3°0|2&
AOCD : AOBC=2:3

. AOBC = gAOCD = g x 12 = 18(cm?)




12, o2 SHATEE A AOAD =4cm?, OD: OB =1:2¢ 1, ok
=39 Wol& Fstoiet.

A D

N

(3)

(1) AOAB 2] Ho]
(2) AOCD 9] Y o]
(3) AOBC 9] W 0]

iy

=
r= .
(1) 8cm?
HE D (2)8cm?

v Vv v vy
0x
iy

o
n

= (3) 16 cm?

B

()OD:0OB=1:29°]22

AOAD : AOAB=1:2

. AOAB = 2A0AD =2 x4 = 8(cm?)
(2) AOCD = AACD - AOAD

= AABD - AOAD = 8(cm?)

(3)OD:0OB=1:20]2&

AOCD : AOBC=1:2

. AOBC = 2A0CD = 2 x 8 = 16( cm?)




13. o8 283 Zo] gPArEd ABCD oA u] zte] o] 5EBHSe o
ZAslo] pEFGHE ﬂ%i’i% o, oEFHG = oJH AR+ 217}

oL @ Artez G ax7

@ A ® "ER

B \
(ABC + /BAD = 180°°]|2& /GBA + /FAB = 90°°]1
AABE A /AEB = 180° - 90° = 90° °]t}.

k72| 2 /EGH = (EFH = /CHD = 90°°|2 & opEFGH =
Atz o]t




14. o2 293 22 2AFE ABCD ©] ¥ AD, BC 91l AF = EC,
(AFC =150° € o, /x&] 37| 5l

A E D
x

150°

L
o

1o
lu
N
rlr
ML
|o
|0
fru
=
I

DAFGE = B3 Ao, &= ozt
150°°]tt.
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16. o2 1A BP:CP=CQ:AQ=1:3
ojtt, AAPQ = 24cm? ¥ W, AABC 9] 4
1% Fatola

&)

Q

o
av}

AAPC = 24 X g = 32(cm?)

4 12
. AABC = 32 x g = TS(CHIQ)




17. o5 299 AD//BCQl Atthe]E ABCD elA AE//DC ¥ d,
0ABED ¢ & o|=7?

N

~ - ~ U4 v
~6cm-"E ~4cm

D)25cm? @ 30cm? ® 35cm?

@ 40cm?2 ® 45cm?

AE //DColB 2 ¥z} Eo]7} Zro} AAEC = aAADE©|t},
OABED = AABE + AADE = AABE + AAEC = AABC

- DABED = % x5 x (6 + 4) = 25(cm?)




18.

oS " e AABCO|A AC//DE°]1, AABC = 40cm?,
AABE = 25cm2 o]tk AADC Q] Yol7F xem?2 < o, x o] 2H& ¢
stofet,

A
D,
B I C
> =
> HE: 15

B
AC//DEC|EE Ui} o]/} OB g AADE = ADEC ©]
=8
ADBC = ADBE + ADEC = ADBE + AADE = AABE =
25(cm?)

2. AADC = AABC - ADBC = 40 — 25 = 15(cm?)
T x=15




19. #AHY ABCD 4 1 M, N2 AB, BC 9] S|t DABCD =
50cm” & of, oMBND ©] Wol& 517

A D

M

B N C
@ 12.5cm? @ 20cm? 3)25cm?
@ 27.5cm? ® 30cm?

A M, No| ZE AB, BC o] FHolB=z

1
oMBND = §|:|ABCD = 25cm?




20. TS IFo)A AR ABCD ol A E = A D
AB ¢ @44 919 Ho|1 DE 9 BC o &/
o] F o[}, oluf AFEC ] {o]=? 4em

2cm) /- 3em

Q

@ 1lcm? @ 15cm? @ 2cm?

@ 3cm? ®)4 cm?

JYoA BD & 12W, ABFD = AFEC ¢|E2&

1
AFEC:§X2><4:4(cm2)




21. t©& I¥eA AC//DE ¥ 4, AABC = 24cm? ©o]t}. o0ABCD <9
o] & totoiet

D
A
~6cm- /@\4cn{E
=1 3 CIII2

>
> ®ehD 40 cm?

~&B

AC//DE ©]2& aACD = AACE
OABCD = AABC + AACD

= AABC + AACE

= AABE

(0]) =24x2+6=8(cm) o|BZ
0ABCD = AABE
1
= 10><8><§ = 40(cm?)
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2 WYAPAF ABCD 7} 27} Heivl T % oW 40|
Slojof shex] B ket

A(D
BC

D)AB = AD @ /A =90°
® AC=BD @)ACLBD

® A0 =BO=CO=DO

ol7t AL, % tzpAo]




